Class

Date

3 12 a.
€.

a.
b.

C.

13, 6, 20, 8, 3 a.
b.

C.

‘00000000080&.00990080B000@80@0&9008000000.00BUM

Find the mean of 3,8, 1,6,and 2.

Model each data value with a
stack of connecting cubes.

2+4+1+5=

3+7+2=

There are data values in the set.
mearn = —~ =
54+9+2+4=_

There are data values in the set,
mean = - = |

13+6+20+8+3=

data values in the set.

—

There are

mean = - =

& tTHE
Rearrange the cubes so each C@N@EPI'

stack has the same number of I
cubes.

How many cubes are in each

CVoyager Expanded Learning, inc.
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stack?

The mean of 3,8,1,6,and 2is . §
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Find the mean of each set of data.

:Q 3,20,7,10 d. + + - —

. b. -~ —

mean =
@ 24, 1, \6, 1'5, 9 a. + + + + _

b. — =

mean =
€ 36522 a. + + _

b. ~ -

mean =

A&ﬁ

..- LA A a2 2 2 2 a2 s S SSNINESIEEEESE RS XS XXX XNNN NN ‘Hm
L3

Find the Mean of a Set of Data T‘@*
Using Symbols Using Words |
1. Dataset:5, 8, 9, 6, 7 Find the sum of the data values in the set.

5+8+9+6+7=35

0000600000000 0OS

hhhhhﬁ%ﬂhﬁm&%h

i 3.35+5=7 Divide the sum of the data values by the
§ Mean = 7 number of data values in the set.
‘E B By B B 0B B B B B B B M B B - - B B B - B 8- 8 8- B -G-8 0 -0 00 B~ B- B B0,
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New Vocébulary
median

Median

@ ;134610

a. 7+13+44+6+10= b.

.~ mean = + =

@ a e, b.

4 | 4
least ' greatest
c.
a‘ ! 7 r} b'
4 4
least greatest
c.

.00-&0@@@@@@‘&@00@5.00000900QCQGG&.O.GCO.GUGGOCO-BW&D
Use commectinig cubes to find the median of 3,8, 1,6,and 2.
Atianmnigie the stacks in order from shortest to tallest.

l lII
- | s B

How many cubes are in the
middle stack?

LA R B R E R E R E R R FE B N IF¥ N W
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he redian of 3,8,1,6,and 2is .

;
%
:

Level D Module 7 « Data Analysis, Probability, and Measurement

r I

J y

4

least

An
is in the set.

median =

An
is in the set.

3+5=

median =

t

greatest

number of values

number of values

& wfI'HE
CONGEPT




Lesson2

Find the median of each set of data.

@ 6 15, 18,2, 8 @ 56 1,12 28
- order = order =
‘median = o+ =
median =

@ 71, 14, 63
order =

median =

..-Qi.-..ﬁ 9SG eGSO ENOROONNOESOTOEOSOSEOSIBSIOTROEOSTOSTOOERNYSS
Find the Median of a Set of Data
Using Syl Using Words

1., Dataset:7, 4, 12, 11, 3, 9 Write the data values in order from
least to greatest.

Least to greatest:
3,4 7,9 11, 12

[

3. Six is an even number, if the number of values is an odd
3, 41.,@ 1, 12 number, the median is the middle
- number in the ordered list.
7+9=16 .
o if the number of values is an even
6+2=38 number, the median is the mean of
median = 8 the two middle numbers.

®Voyager Expanded Learning, Inc.
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frequency
- frequency table

- New Vocabulary

Frequency Tables

5fLesson;3.'

a. 17 b. )
25
16
+ 26
mean =
€ a. How many more mystery books than | Books Ari Read Last Year
hnst@ry books did Ari read? | Books Number
= books - History 17
b. What was the mean number of | Mystery 25
br@@aks_{r Ari rea:i_ fast yeir? - Poetry 16
=X = books >ports 2

QC.OOOG0.0C..0...0..06000&0000000000000.9800 Um

17, 25, 16, 26

Use the tally chart to complete the frequency table.

Which fruit had the most votes?

% JITHE |

C@N

Favorite Fruit Favorite Fruit
Fruit | Number of Votes Fruit | Number of Votes
Bananas H] Bananas 4
Oranges LI  Oranges 9
Peaches I ' Peaches
Grapes i Grapes
Apples JHT T 11 Apples

”00-."".‘.0‘0'.-00-‘.'0‘-0‘-0-0

©Voyager Expanded Learning, Inc.

had the most votes.
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Solve each problem using the table.

@ Which sandwich got the median number Favorite Sandwiches
of votes? Sandwich | Number of Votes
A ' Cheese | 7
@ a. Whatis the total number of votes? I 1yrkey 8
—t + = Votes  Tyna Fish 3
b. What is the mean number of votes?
' == votes

Interpret a Frequency Table !
Using Symbols Using Words

1. How many more students Find the question.
voted for dog than for cat?

Favorite Pet

Pet | Number of Votes
Bird 7
Cat 9
Dog 12

S TEaE i e
3.12—-9=3 Perform any operations needed to
Three more students voted answer the question.

for dog than for cat.

G000 0000000000000 06002000080000000000

@Voyager Expanded Learning, Inc.
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Class

Pictographs

Date

How many scoops of strawberry ice

cream did the ice cream shop sell?

X__ . =

SCOOPS

@ Which flavor was sold the most?

®

How many more scoops of vanilla

were sold than butter pecan?

x =

4 =

.oooo-eeeoe-oooooo-oooooe@o‘e-@so@caee—amo‘sa‘o-ensa-ooBIl]m

Favorite Sports

Eight students voted for
basketball. Complete the
pictograph using this
information.,

Istar=__ votes

2stars=__ votes
3stars= ____ votes
4stars=__ votes

P 00000 BOIEOPOEELEQ9S

©Voyager Expanded Learning, Inc,

SCO0PS

5X5=

Scoops of Ice Cream Sold

 lce Cream | Number Sold
Vanilla 3 ?

' éStrawbefry ' '
;Choc-@late | '

1e

| Butter Pecan

\/

Key: Each ' = 10 scoops sold

Sport

Baseball

%

 Soccer

2.0 1

Footbal

Basketball

L. 0.

WﬂMAFMMMWMﬁMMM%Wr&%wWJQMFQ
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Use the pictograph to solve each problem.

@ How many votes did golden Favorite Dog
. retrievers and greyhounds get? Dog Number of Votes
T X _ = Cocker
X = ' Spaniel ’{ ﬁ ﬁ
. . = votes Golden
€ How many more votes did Retriever :H alallallal
greyhounds get than cocker spaniels? | Greyhound | ’{ H ’4' i
i — | Key: Each pf = 5 votes
- _ = votes | |

1. How many votes did cocker Find the question.
sipainiels and greyhounds get?

3. Cocker Spaniel: 3 pictures For each row, count the pictures in the
3X5=15 row. Multiply that number by the
number in the key.

Greyhound: 4 pictures
4 X5=20

©Voeyager Expanded Learning, Inc.
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New Vocébulary
“bar graph

Bar Graphs

Class Date

C.

b.
c.
d.

Title:

Label below graph:

Categoriesz; '
,and

Labet at left:

Fakli: votes

Summer: votes

Winteré votes

:C
E School Read-A-Thon
? |Student| Number of
’ Books Read
¢ |Amy 6

£ + |Devon 10

€9 |Niko 9

g * |Sandra 12

‘g'w

got more votes than

" Sandra

tevel D Module 7 » Data Analysis, Probability, and Measurement
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Sellve each problem using the bar graph.

e a. Which activity was chosen most?

b. . Which activity was chosen least?

@ a. How many votes did the swing get?

'b. How many votes did hopscotch get?

':ffavbri:te 'Plaﬁ:c;;i‘b'und ?\Ctivit_jr

c¢. How many more votes did the swing get than hopscotch?

- = votes

€ How many votes did basketball and hopscotch get altogether?

+ = votes

Usinig Symbols
1. Title: Favorite Playground Activity

3. How many votes did basketball get?
5 votes

Lesson 5 ¢ Bar Graphs

Uséthé bar graph titled Favorite Playground Activity.

Using Words
Read the title.

Read across from the top of
the bars to the scale to answer

questions.




- New Vocabulary
- line segment

line graph

Line Graphs

Name Class Date

@ a Tite

Chang’'s Height

b. Label: 60

¢. Categories: ' ,

d. Label: . L

Birth zyegrs 4 years 6);éars Byears

€ a. 4years inches

b. 50inches: years
[ 4 ] inches; inches

Chang's height increased inches from 2 years to 4 years.

0TS OO BTEGOOOTHIEOOET OO EITIROEETCOERIOERREON

o

+ Use the table to complete the line graph.

E Sarah’s Exercise arah’s Exercise

4 Day Miles Walked | .

. Monday 3

: .Tuesday 2
2 Wednesday 3
%: Thursday 1 M;n T:es Wiad Thijrs i st sun
ge |Friday 4 e
.%E Saturday 5
;g: Sunday 6

Level D Module 7 » Data Analysis, Probability, and Measurement




Selve each problem using the line graph.

€ a. Did tire sales increase or  [VIHEE IS
: decrease from March to
April?

b. What is the difference
in sales from March to

April?
— = tires
@ In which month did Vic sell € Between which two months
the same number of tires as - did Vic’s sales stay the same?

he sold in February?

.' ' C l- ‘. [ R B N N N N & N N X N NN & 5 N N X B N N J .Hm 'n'r'
Interpret a Line Graph o ‘l‘ q
Use the line graph titled Vic's Tire Sales. - :

Using Symbols Using Words

1. Title: Vic's Tire Sales Read the title.

I 3

3. Did the sales increase or When the values increase, the line rises.

decrease from April to When the values decrease, the line falls.

May? increase ] o
When there is no change, the line is

horizontal (fiat).

0090000000600 0060060060000 00080e¢¢

©Voyager Expanded Learning, Inc.
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Problem-Solving: Using a Table

~ Lesson7

Class Date
a. students chose baseball. Students’ Favorite
b. + = Sport to Watch
students voted for baseball Sport | Number of Votes
or soccer. Baseball 15
L Football 7
’ Soccer | 3
7,6,5,6
a. Mean: + + + =
b. Median: , , ,
How many more students chose eggs | Favorite Breakfast
than bagels?  Breakfast
_ _ Food Number of Votes
| Eggs 7
What is the mean number of votes? - Waffles 6
votes  Bagels 5
Cereal 6

What is the median number of votes?
votes

Level D Modude 7 » Data Analysis, Probability, and Measurement




Solve each problem using the table.

€@ Find the mean of the distances from | Distance from Anton’s House
: Anton's house. . " Number of
_ Place  aas
+ 4. 4 Miles Away
+ = Gas Station | 2
| - — miles Bookstore 7
@ Find the median. Which place is the Shoe Store | 12
median distance from Anton’s house? Park : 3
- '- School 1

]

median =

..o?mo...ooooooooo.oooooooc.&cooooo-q-oooo-otﬁo-&_o:lsH"" W
Solve a Problem Using a Table
How many more students voted for pepperoni thamn for sauisage?

1. Find: how many more students Favorite Pizza Toppings
voted for pepperoni than for | Topping | Number of Votes
sausage | Pepperoni 13

2. How? Use a table. : | Sausage | 8

3. Solve. Find the number of votes | Mustrooms 5
for each topping. | Omilons 2
Pepperoni: 13 votes Extra Cheese 7

Sausage: 8 votes
Subtract.13 -8 =5
Five more students voted for pepperonii thiair

4. Is the answer reasonable? E
of subtraction,5 + 8 = 13.

=l B - - 00000000008 0.0.0680-6.1

E\oyager Expanded Leamning, Inc.
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 New vmbnlary
| faverable outcomes
Onteome

| possible outcomes
t probability

Name

Understanding Probability

a. Green: — b. White: —

b. Yellow: —

d. Green: —

Yellow or biue: —

The spinner will always land on
yellow or blue. It is a certain event.

Blue: —

This spinner will probably not land
on blue. It is an unlikely event.

©Voyager Expanded Learning, Inc.
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¢. Orange: —

e.

Yellow: ==

This spinner will probably land on
yellow. It is a likely event.

The spinner will never land on red.
It is an impossible event.




‘Lesson 8

Q When Bella flips the coin, €@ When James flips the coin,

what is the probability that — what is the probability that
‘ it will land on heads? it will land on tails?

@ What s the probability of € What is the probability of

the spinner landingonthe — the spinner landingonan  —
number5? . even number?

€ What is the probability € What is the probability of
of the spinnerlanding — — the spinner landing on a
on a number less than 77 number greater than 107

T HOWL
Fiﬁd a Probability %5 m
Using Symbols Using Words | '

1. What is the probability
that the spinner will
land on the letter J?

Find the number of favorable
outcomes.

Sections with J: 2

@@@%@m&.onoootoﬂogﬁao

Write the probability as a
fraction.
number of favorable outcomes

total number of outcomes

©Voyager Expanded. Learning, Inc.
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I.esson 9

Time

o'clock

, 30, 35, 40, , 50,

a. 15 b. 45

@@@@au@eeoooeooooooooeoooo-eoooooootooooooceoB];mm ]
Fiwood started guitar practice at 3:30. He finished guitar practice a |
at 4:45. Write the hands on the clocks to show the times. (8))

Start Practice: 3:30 End practice: 445

Level D Meodule 7 « Data Analysis, Probability, and Measurement
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Tell and Write Time
Using Symbols Using Words

Hour =9  On an analog clock, the short hand tells the hour.
When the short hand is between two numbers,
the number before is the hour.

Minutes = 20  The long hand tells the minutes. Start at 12, or
0 minutes. Count by 5 to each number until the
number the minute hand points to is reached.

9:20 Write the hour, a colon, and the minutes to
write the time using numbers.

nine twenty Write the hour then the minutes to write the
time using words.

'
.
®
*
°
™
™
.
™
°
°
°
®
®
v
)
*
.
L 4
L ]
L
L
™
[ ]
[ 2
¢
.
L ]
[
¢
L]
L ]
.
.

o
=
=
=
=
£
@5
&
-
b=l
@
b
=
0
2
E3
ER
e
&
>3
T
)
=
@
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i m Voéalmla_ry _ _ Lesgon 1O _
thermometer RURR =
- deguees Fahrenheit (°F)
Customary Temperature
Name Class Date
T e
70 90
OF 7
Q0®®=$$%~&®'QQ'@8®008@ﬁ@ﬂﬁ@90GGGQQQGOQGOGQGG'QQOQD‘BME
Temperature tells how hot or cold it is. a ; E[!HEE
CONGEPT

is 20°F hot or cold? ks 85°F hot or cold?

95000090Q000000000509

@Voyager Expanded Learning, inc.
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r.

Look at the scale on the thermomete

Using Words

te the temperature shown on each thermometer.
d a Thermometer

;
1. Each mark shows 1°F.

Using Symbols

Lesson 10

Wr

‘Ul ‘Bulea papuedxy 1abeioas

Lesson 10 « Customary Temperature




Lesson 11

Customary Capacity

Name Class Date

& 3% 4=

Benchmarks for Measuring Customary Capacity

Ny .

1 pint = 2 cujps 1 quart = 2 pints | 1 gallon = 4 quarts

a cups' pints b. cups - pints
- quarts gallons guarts gallons
juice ”
glass fish tank
4 quarts = __ pints € 3 gallons = ___quarts
larger unit = smaller unit larger unit = smaller unit
T quart = __ pints 1 gallon = ___ quarts
4X_ = =

-
« How many cups are in 1 quart?
-]
.
@
ST |
.8 =
00 @
Ze ==
e =1 | ==
e
Te
g
e
52 cups
Ze
© 8000000 806 0-0 008 8 R 8 B-t

Lewel D Module 7 » Datia Amalysis, Probability, and Measurement



Circle the best unit to use to measure the capacity of each object.

€@ bathtub €@ teapot
"~ cups pints quarts gallons cups pints quarts gallons

- Change each measurement.

€ 6pints=__ cups € 3quarts=__ pints
X = X =

E ) P

:.:i».QOOIf,.--...-I;Q:QOIQT....\-..0_..... QOQOCI‘QO......Q;...-..H “HﬁwP’ .
Find the Best Unit to Measure the Capacity of an Object TG\
Using Symbols Using Words
1. The bucket holds Compare the object to a benchmark.
much more than

1 cup, 1 pint, or
1 quart.

¢hange from a Larger Unit to a Smaller Unit
Using Symbols Using Words

1. 3 pints = ? cups Find the number of smaller units in
1 pint = 2 cups 1 larger unit.

o B %&&Q 0900909080809 009000800008

Lesson 11 * Customary Capacity




Lesson 12

Customary Weight

Name Class Date

19+ 12+ 13

a. quarter
ounces pbunds

b. medium-sized dog
ounces pounds

A slice of bread A loaf of bread weighs
weighs about | about 1 pound.
1 ounce. | 1 pound = 16 ounces
2 pounds = ounces € 2 pounds 4 ounces = ounces
larger unit =» smalier unit 1 pound = ounces
1 pound = ounces +
+ = + =

ﬂTHIE
CONGEPT

s 3pounds = ounces + ounces + ounces
g = ounces
¢* 3 pounds 2 ounces = ounces + ounces = ounces

§$@@0@0%®®0600Gﬁ60030
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Circle the better unit to use to measure the weight of each object.

@ brick €@ cookie

ounces pounds ounces pounds

Change each measurement.

€@ 1poundi150unces =__ ounces @ 2pounds10ounces=___ ounces
= +
+ —

Find the Best Unit to Measure the Weight of an Object

Using Symbols

1. The apples weigh
much more than
1 slice of bread.

Using Words

Compare the objectto a
benchmark.

Change from Pounds or Pounds and Ounces to Ounces
Using Symbols Using Words

1. 2 pounds 5 ounces = ? ounces  There are 16 ounces in 1 pound.
1 pound = 16 ounces

3.32+5=37 If there are ounces, add the original
2 pounds 5 ounces = 37 ounces number of ounces to the sumin
Step 2.

@Voyager Expanded Learning; Ine.

et 8000808000000 080000000000080000000000

;
;
;
i
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Less_ori' 13

Customary Length

Name Class Date

€ a. length of ahairbrush [ 07 inch. | about1foot | about 1 yard

b. width of ‘a window

¢. length of a football field

@ 3feet=__ inches @ 2yards = __ feet
larger unit = smaller unit larger unit => smaller unit
1 foot = __ inches Tyard = __ feet

3IX = 2X =

OQOQGGGGOOOOOO.QOOO-OOOOOOOOGGOQQOCGQGG@GGGQOOBW
I.

L ] . .
s How many inches long is the marker? & THE
® Aol
. How many paper clips N ¢
Ze long is the marker? ¢
& . ;’
=9 4
M _ P — paper clips §
=P )
e , _
e The marker is about inches long. f;
D 20,500 80005000 0800 0-8-0-8,0-8-00--0-8, 86,088 86 888,89 8,0.0,6,0-8,8-0-8
s
@
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~Lesson 13

Circle the best unit to use to measure each object.

@ length of a stadium @ width of a picture €@ height of a bicycle
inches feet vyards inches feet vyards inches feet yards

Change each measurement.

€ 4feet = inches € 5yards = feet
X = X -

....—....00..........—...0.......‘..&..........—.-. W"’
¥ o A

Find the Bast Unit to Measure the Length of an Object _ m \
Using Symbols Using Words > o

Compare the object to a benchmark.

1. 3 feet = ?inches There are 12 inches in 1 foot.
t foot = 12 inches

€hange from Yards to Feet

1. 4 yards = ? feet There are 3 feet in 1 yard.
1 yard = 3 feet

©Voeyager Expanded Learning, inc.

0000800000 N 000 0000000000000 00000000000,

yards = 12 feet

0 9.00000000000000000000000000058066660000-010.21 o0.0.000%
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Lesson 14

Measuring and Estimating Length
Using Customary Units

Name Class Date

| @ ) feet = ___inches @ length of a banana
X = inches feet vyards

R a. eraser: inches

b. watch: inches

An apple is b. A pencil is

about about
inches tall. inches long.
90.00.0'.QO.‘OQQO‘G.Q.Q......’....OCO0.0000CIB’EME
Karen made cupcakes for the class. How thick is the icing? . é. HE

CONEEPT

RS Height of cupcake with icing:

" inches

: Height of cupcake without icing:
—e inches

Thickness of icing:

Theicingis . inch thick.

”‘QO.‘QOOOOQ.O-OOOOGQOQ

©Voyager Expanded Learning, Inc.
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Measure the length of each object to the nearest inch.

»—
~

=

- T T I i 1 I
1 2z 3 4 5
A Y anches

inches inches

II F’ T T T i T
2 weter ! 2 3 4 5

Measure to the Nearest Inch
Using Symbols Using Words

Poo v 3 T 77 zero mark on the ruler.

 Estimate to the Nearest Inéh
Using Symbols Using Words

Compare a paper clip or another

@Voyager Expanded Learning, Ine,

R R GRS R Al S e SRS A s SRR AR RS Y

Ef
.
,

¢
:
4
»

Lesson 14 * Measuring and Estimating Length Using Customary Units

Line up one end of the object with the

benchmark to the object to be measured.

Estimate the length or height of each object to the nearest inch.

_.‘.‘...0...........QQO_O....Q.Q....Q...‘..‘Q.‘Q._GG"_"




- Lessan 15

Metric Length

Name Class Date

) = Benchmarks for Measuring Metric Length |

€ a. length ofalollipop about 1 ~ about 1 about 1 meter
centimeter | decimeter

b. height of a microwave oven

¢. length of a swimming pool

4 decimeters = ___ centimeters @@ 5meters = ___ decimeters
farger unit = smaller unit larger unit = smaller unit
1 decimeter = centimeters 1 meter = decimeters
AX = 5x =

@aeaeeeaocoeooeoeooooeoo-eoeoeoeooooosooooeoBml

:‘ Comiplete each statement. nTHEE
& Bl

. centimeters = 1 decimeter CQNGEBJ;I
: § 1 decimeter = centimeters | §
;5 decimeters = 1 meter :
%E 1 rmefier — decimeters E

Level D Module 7 « Data Analysis, Probability, and Measurement
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Circle the best unit to use to measure each object.

@ length of a soccer field €@ width of a credit card
centimeters decimeters meters - centimeters decimeters meters

Change each measurement.

€ 3 decimeters = centimeters @) 8 meters = decimeters

..........i_-l‘m

8080800009900 000000000 00000080¢008000Ce0e00

[ 2

Find the Best Unit to Measure the Length of an Object
Using Symbols Using Words

Compare the object to a benchmark.

Change from Decimeters to Centimeters

1. 3 decimeters = ? centimeters There are 10 centimeters in
1 decimeter = 10 centimeters 1 decimeter.

Change from Meters to Decimeters

1. 4 meters = 7 decimeters There are 10 decimeters in 1 meter.
1 meter = 10 decimeters

leters = 40 decimet

0000000 0-0-0-9-0-0-0- 00008 AAA A OO OB OO0 B G- BB
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__I.esson_ 16

Measuring and Estimating Length
Using Metric Units

o Class T ——————_Date____

3 decimeters = centimeters length of a crayon
’ X = centimeters decimeters meters

a. crayon; centimeters
b. thumbtack: centimeters

b. Agolfbali
isabout
centimeters tall.

a. A cap eraser
is about
centimeters tall.

@
]
&
®
]
L
®
]
&
®
]
@
L2
&

2920000060 299 ed00ae.g
s ZT
T

0000900000000000'9@‘@O.QOOQ0.0C.B'{ é

Is the pencil longer or shorter than 1 decimeter?

e
=

Thie: premicil is about centimeters fong.
1 decimeter =
Tithie: cil is than 1 decimeter.

*‘ﬂgﬂ@gﬂ;r@ﬁ@,ﬁ@p@; ’%Wﬂﬂr@,ﬁ—@z@ﬂff&m@p&; @/Mp’,&“&v -@r—@w—eﬁ@r*@,ﬂ-@r A48 B arﬁi‘&#&e"&f’ﬂ"ﬂ‘#";’eﬂsﬂﬁﬁ.ﬁ

centimeters

w%%m%ﬂm%%‘w%%‘m%@-xmm%‘v

PEX
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